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  vCal.x = (t.v0[0] + t.v1[0] + t.v2[0]);  

  vCal.y = (t.v0[1] + t.v1[1] + t.v2[1]);  

  vCal.z = (t.v0[2] + t.v1[2] + t.v2[2]); 

  vCal.Normalize(); 

 

  fThe = acos(vCal.z);   //[0, PI] 

  fFai = atan2(vCal.y, vCal.x);  //[-PI, PI] 

 

  //radiation vector 

  if(nFlag==0) { // P radiation 

   fAmp = sin(2.0*fThe)*cos(fFai)*0.5; 

   vRad = vCal * fAmp; 

  }else{ 

   fSR  =  cos(2.0*fThe)*cos(fFai)*0.5; 

   fSH  = -cos(fThe)*sin(fFai)*0.5; 

   vRad.x = cos(fThe)*cos(fFai) * fSR; 

   vRad.y = cos(fThe)*sin(fFai) * fSR; 

   vRad.z = -sin(fThe) * fSR; 

   vRad.x += -sin(fFai) * fSH; 

   vRad.y +=  cos(fFai) * fSH; 

  } 

  //so far radiation is calculated in the fault coordinate system 

  //transform calculation point and radiation vector to (E, N, U) system 

  t3.Transform(&vCal); 

  float fRp = (nFlag==0)? fR : fR+0.02; 

  x = vCal.x * fRp; 

  y = vCal.y * fRp; 

  z = vCal.z * fRp; 

  t3.Transform(&vRad); 

  if (nFlag==0 && fAmp<0)  

   XLgl_DrawArrow2(x-vRad.x, y-vRad.y, z-vRad.z, vRad.x, vRad.y, vRad.z); 

  else 

   XLgl_DrawArrow2(x, y, z, vRad.x, vRad.y, vRad.z); 

 

 } 

 


